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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises 15 questions. All questions are compulsory.
(it)  This question paper is divided into three sections — A, B and C.

(iti) Section A — Questions No. 1 to 7 are short answer type questions. Each
question carries 2 marks.

(iv) Section B — Questions No. 8 to 13 are also short answer type questions. Each
question carries 3 marks.

(v)  Section C - Questions No. 14 and 15 are case-based questions. Each question
carries 4 marks.

(vi) Internal choices have been provided in some questions. Only one of the
alternatives has to be attempted.

SECTION A

1. (a) What is ozone ? How is it formed in the upper layers of the Earth’s

atmosphere ? How does ozone affect our ecosystem ? 2
OR
(b) @) List two human-made ecosystems. 1

(ii))  “We do not clean a pond in the same manner as we do in an
aquarium.” Give reason to justify this statement. 1

2. (a) () Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed
in a uniform magnetic field which is perpendicular to it.

(ii1)  An alpha particle while passing through a magnetic field gets
projected towards north. In which direction will an electron
project when it passes through the same magnetic field ? 2

OR
(b) (1) What is a solenoid ?

(ii))  Draw the pattern of magnetic field lines of the magnetic field
produced by a solenoid through which a steady current flows. 2

3 e P.T.O.
[



8. (%)
(@)
4. (%)
(@)
5 ()
(@)

fafyman fope shad 8 2 39 & TH@ SR ! FH ST [k Shror fopedt
gafy ¥ fafirear 3cas 3 2 |

AUAT
(i) S ged 9Tl del TR Yo S el el o HE TRl g
399 F, Gafd o Qi o deun i 3g@ shife |

(i) 9fg F, @afd & diei 1 ST B I, O Fo #@dfd & qrdi o
ERI R

(i) g Fy wafd § 100 919 I g1d &, 1 370 ¥ forad qe sty
&I g ?

e fou T godt | @ fore TR0 T HUTEHT IHH 7 2
T, g, WS, eS8

IYATCHTT g9 o Q1 F-IT ohl g SATSY |

Frar < 7 gfskan <1 9 fafgu Mt sgeht gitvmr i -

39 HITITRIST o bR <1 ATH fIRaT S 39 Ufsham o ekl & 9
Shat o Suferd gt & |



3. (a) What is variation ? List two main reasons that may lead to

variation in a population. 2
OR
(b) @) In a cross between violet flowered plants and white flowered
plants, state the characteristics of the plants obtained in the
F{ progeny.

(ii))  If the plants of F; progeny are self-pollinated, then what
would be observed in the plants of Fy progeny ?

(iii) If 100 plants are produced in Fy progeny, then how many
plants will show the recessive trait ? 2

4., (a)  Which of the following flowers will have higher possibility of
self-pollination ?

Mustard, Papaya, Watermelon, Hibiscus

(b)  List the two reproductive parts of a bisexual flower. 2

5. (a) Name the process shown below and define it :

(b)  Name the types of cells present in the organisms which exhibit this
process. 2
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6. What is a Dobereiner triad ? Why can’t the following three elements form
such a triad ? 2

N (14); P (31); As(75)

(Atomic masses are given in parenthesis)

7. The molecular formulae of two alkynes, A and B are CiHy and CgHj

respectively.

(a)
(b)

8. (a)
(b)
(c)
9. (a)
(b)
10. (a)

(b)

Find the values of x and y.

Write the names of A and B. —x4=2

SECTION B

Name the group of organisms which form in the first trophic level
of all food chains. Why are they called so ?

Why are the human beings most adversely affected by
bio-magnification ?

State one ill-effect of the absence of decomposers from a natural

ecosystem. 3

(1) Define Electric Power and write its SI unit. é+é

(i1)) Two bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains. 2

OR
(1) State Joule’s law of heating. Express it mathematically when
an appliance of resistance R is connected to a source of voltage
V and the current I flows through the appliance for a time t.

(ii)) A 5 Q resistor is connected across a battery of 6 volts.
Calculate the energy that dissipates as heat in 10 s. 3

Calculate the resistance of a metal wire of length 2m

and area of cross-section 1-55 x 1076 m?2.

(Resistivity of the metal is 2-8 x 108 QO m)

Why are alloys preferred over pure metals to make the heating
elements of electrical heating devices ? 2+1

7 o P.T.O.

[=]E:



11. F, 9dfd & 0g Yed S o AT & a4 dTel THIR o Gidi (GG T Fehlol ST
T4 Il TS & Nl (gg) B HUAT T4 |

(%)

(@)

(m)

12. ()
(@)
13. (%)
(@)

F, Hafd & Wl § 319 759 1 % a4 814 sl 31 id 8 S 2
Ifg Fy, Tdfd I s o o0 Fy dafd O 9T qiei o671 SaonTr S
ST 8, A1 ST a4 aTel 9l sl Fo Tatd § Sfaeradn a=m g 2

Fo, Tafd § I GG 3R gg Wi o HeT UM foifay |

39 GJd gIegihied, 8 3 § IR e WA &, hl FHIET al
fahm a=ad Eifvw | oM oTfvas §F % 39 TGl Wl al
GEEATST I FT HEd & ? 39 AR h1 HEET AW AR ATM0IH

faRaw | 39 Mk & Ueehred 1 Mfvges ¥ fafau |
AAAT

(i) S 1 Tfge g3 Tl i 8eh! 9t it |

(i) Sl % 3] H UMY Tehel Hggarsl fe-ai R fg agaarst
eyt sl T fafau |

(iii) o ARl 1 Ucehlsd ad & ?

g Tad |rell o foredt dwa sht WY WA i Il o iRl %

YR &% &Y T UM & g AT hl gl ST |

awl X (THTY] ST 13) SR Y (T @A 20) % seadie o
ferfam |

Qg

39 GUS H 2 FHU-3MYIRT 97 (14 37K 15) & | I39% Y07 4 3 39-977 (%), (@)
3N (1) &1 YT (%) 3% (@) erfAar & 1 9T () F 37aRkes =@ Y517 9T T 8

14. 515 S Tt feafed ugred &1 ST i ST 9 W Uh T I i e
T & | 98 39 S4l-ad T B8 g @dl § a9l 39 B8 g o anl
3T, T9eh-Teoatraeh 1 ITANT hich, THAHH &9 H $S Alg-J0l G g | 98
i FR-R qUedH W I8 I8 I it 7 o TAe-gul T & T fomiw Ged o
Srafedrd g T R |

()

(@)

Tig-gut % 39 Yo I U o foiw @ i |
-0l 1 I Yo 1 FEfua whiar g 2

8 ChD



11. A cross was made between green-stemmed tomato plants denoted by
(GG) and purple-stemmed tomato plants denoted as (gg) to obtain
F, progeny.
(a)  What colour of the stem would you expect in their F; progeny and
why ?
(b)  Give the percentage of purple-stemmed plants if F; plants are
allowed to self-pollinate to produce Fy progeny.

(c) Write the ratio between GG and gg plants in the Fy progeny ? 3

12. (a) Draw two different possible structures of a saturated hydrocarbon
having four carbon atoms in its molecule. What are these two
structures of the hydrocarbon having same molecular formula
called ? Write the molecular formula and the common name of this

compound. Also write the molecular formula of its alkyne. 3
OR
(b) (1) Write the molecular formula of benzene and draw its
structure.

(ii)  Write the number of single and double covalent bonds
present in a molecule of benzene.

(iii))  Which compounds are called alkynes ? 3

13. (a) List two advantages of adopting the atomic number of an element
as the basis of classification of elements in the Modern Periodic

Table.
(b)  Write the electronic configurations of the elements X (atomic

number 13) and Y (atomic number 20). 3

SECTION C

This section has 2 case-based questions (14 and 15). Each case is followed by
3 sub-questions (a), (b) and (c). Parts (a) and (b) are compulsory. However, an
internal choice has been provided in Part (c).

14. A student fixes a sheet of white paper on a drawing board using some
adhesive materials. She places a bar magnet in the centre of it and
sprinkles some iron filings uniformly around the bar magnet using a
salt-sprinkler. On tapping the board gently, she observes that the iron
filings have arranged themselves in a particular pattern.

(a) Draw a diagram to show this pattern of iron filings. 1

(b)  What does this pattern of iron filings demonstrate ? 1
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(c) (@) How is the direction of magnetic field at a point determined
using the field lines ? Why do two magnetic field lines not
cross each other ? 2

OR

(ii)) How are the magnetic field lines of a bar magnet drawn
using a small compass needle ? Draw one magnetic field line
each on both sides of the magnet. 2

15. The mechanism by which the sex of an individual is determined is called
sex-determination. In human beings, sex of a newborn is genetically
determined, whereas in some others it is not. There are 46 (23 pairs)
chromosomes in human beings. Out of these, 44 (22 pairs) control the
body characters and 2 (one pair) are known as sex chromosomes. The sex
chromosomes are of two types — X chromosome and Y chromosome. At
the time of fertilisation, depending upon which type of male gamete fuses
with the female gamete, the sex of the newborn child is decided.

(a) Why is a pair of sex chromosomes in human beings called a1

mismatched pair in terms of type and size ? 5 +é

(b)  If the gametes always have half the number of chromosomes, then

how is the original number of chromosomes restored in the
organism ? 1

(c) (1) Name two animals whose sex is not genetically determined.
Explain the process of their sex determination. 1+1

OR

(ii)) With the help of a flowchart only, show how sex is

genetically determined in human beings. 1+1
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